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1. yRHt fmetel! Jifgd! Garea JeRid 4. 1. Fill in every information asked for.

o T goT |, 2. Attempt all questions.

3. TS UeIETE Wigeledl R dd, Gl 3. Write the answer with E}:planaan in
the blank space below each question.
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4. Tl PHNIS! HED AR foerll ST page for rough work.
aTax, 5. If you want to rewrite the solution of a
5. TErRn WA feifgelel SR ¥ o671 M question cancelling the original, write it
IR TR fogmaR sMd @) O d9c=d on the last blank page mentioning the
DI YIHTER T W21 HHIBIIE folal. question number.
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1) wieiel sl feledr ATfediase T JTgpra &5hed Hial.

1) From the information given in the figure, find its area. 4
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2) udier il Hieqy x d y <A fopeit et | 4
2) Solve the following equations and find the values of x and y.

X +3xy=14 ; y+3yx*=13
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) 27000001 ¥ X ETT AT | 4
3) Find prime factors of 27000001. 4
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4) @refd mgdd AB = AC, D-A-C, D-E-F, AD = AE @ &I DFC 9 |19 . 4
4) In the following figure AB = AC, D-A-C, D-E-F, AD = AE. Find m£DFC.
D
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5) 2 =1 G S Aier fbdar @@ie, 1 d 100 a1 QI FEHAl OMREN SHaud

5) What is the highest power of 2 which is a factor of the product of all integers from 1 to
100 ? 5




6) W=l Solve.
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If the sum of two digits x and y is divisible by 7, prove that the number xyx is divisible
- 5
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8) (?01{}01 +?2H]DUJ T EEIAT 71 = 9T A @1 2 -i’:l_?: _ )

8) Is (?Omm +72! ﬂﬂﬂ) divisible by 71 ? Justify your answer.
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9) SR p & & W& 3ReT, m & Tafife T ™A A p(p+m) +p=(m+1); R pd
m T et ene. 5

9) If pisa prime number, m is a natural number and p (p + m) + p = (m + 1)’ then find the
values of p and m. 5




10)AABCEITHTGEWEFIT§°F&,!J,:31%.E?al+b2+c1=ab+bc+acﬁ?ﬁﬁWABCﬂﬁW

THRET I g o TIEhRUE fofar. 5
10)a, b, ¢ are the lengths of sides of A ABC such that a* + b2 + ¢ = ab + be + ac. What is the

type of the triangle ? Justify your answer. 5
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11) SR x+l=3mx5+i5?ﬂﬁ1mﬁm. 6
X X

) IExrm= 3 fnd e valueof x5+i5. 6
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12) @reft fieoiear wRemear HiFddia x Iy T4 fhadt el
2,3, 11, 38, x, y, 443, 786

12) Find the values of x and y in the following sequence.
2,3,11,38,x,y, 443, 786
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13) [J ABCD & JHaid didiH 31e. 9191 AB | | 9151 CD, 151 AD = 915 BC,

m £ ACD =45°, [(BD) = 12 & 3B ABCD d &5%Hes BIal. 6
13) 0] ABCD is a trapezium, side AB | | side CD, side AD = side BC, m £ ACD = 45°,
[(BD) = 12. Find the area of the trapezium ABCD. 6
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15) A ABC H& [ (AB) = 20, I (AC) = 21, [ (BC) = 29 3for B-D-E-C 3R / (BD) = 8,

| (EC)=9.dX @9 DAE © HIY Pral. T
15) In A ABC I(AB) =20, I(AC) =21, I(BC) =29 and B-D-E-C, I(BD) =8, (EC) = 9. Find
the measure of the angle DAE. i
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16) AB 3O CD & FHIGR THAT ALAR, IFPH S 3o M A, |k anfor T Al W
am¥d. AC ofr BD ¥ TR T WRERT E HEd BN, R AE = 585 fepeft, aieR
EC = 105 frdft, oiqx BD = 9.76 fpdt; ok wiRean o Hewred oX Svardr HHIE
et FrcRTET JEf DO ? B P

16) AB and CD are parallel roads. S and M are homes of Sameer and Mahesh at the
midpoints of the roads. Straight roads AC and BD intersect each other at E.

If d(AE) = 5.85 km, d(EC) = 1.95 km, d(BD) = 9.76 km; then which is the shortest route
from Sameer's home to Mahesh's home ? Why ?
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17) IR4-A=A-B=B-C=C-D=D-5, A:B:C:D Pl 8
17) f4-A=A-B=B-C=C-D=D-5,thenfind A:B:C:D. 8
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18) In the following figure segment AB is a diameter of the
perpendicular to the diameter AB at H. The length of ABisat
number obtained by interchanging the digits is the length
length of the chord CD. Find the length of AB, if /(OH) is a atio
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